BERITERD, XTHBHBEVESR

A creative, innovative and challenging young company

BEFSEEHE

Low Voltage Induction Motor

¢ {‘ l K ELECTRIC

www.ikelectric.co.kr




CEO
Message

HASESOmMBEHRFENZ{IEAT-FEVVEEE. BISRY 7 3 & BRERRY RS VB3R,
IK ELECTRIC FHILICOTED. JINTERMNTERRZZESES
IK ELECTRIC

IK ELECTRICIZEIFFARIE DANERDIT S 1.

INEY - BB SN EEiE

BEm DB 3R THELTVET, BEEHMELOFEE C HICHR TEEE. REROBEZEHIZ2TA
AEVEENESS 13 TR <. IEC. NEMAZ X DEFRERICEEHL L 71227
EIRZEELTHE D, BithEo B RIFNSI KBET, NRHIERE
ICELL. E&HRFNDDH D 75

—SRISECDIIASICHETIIRVWI LTI it I eREY
BIDICHZ BB AMMIRECRBEIREZ L TED T,

CNETHRFTY 7 bz 7 RGHMBEEMEEAES X TL (F1FE
XF)  ELT T EAFREHABRL R EEERICK
BREMRZRGT L (REmBZHEIFLTED. 20261 57— K
IHREBATBLEEMNET. IOBFHOHI28RERETES
LSBHTUVET,

I CND 5D BEROEEEESVTREDAMIEE > T, BE
= = | ILBEBOREHRH—F RERMHTEI/O-NILEZICAZLSIC
“."‘JJW — =1 \ A BEOEHERC T LENRBLET,
: * L BEEEFOMENEELCIELABVWCZIREBEL VL ET

HOHHESTTVET,

(B) IK ELECTRIC {{RIEH



L ST DYy

| {‘ l K ELECTRIC

History

1979 1989 1997

A - B AmEIER - TISEBer
(Vo L45RHIEK) (Z)NmrER)

Contents

01 HRIFH 06
02 =HFLIT7LEESHIK 09

+ B3 Horizontal Type

+ B5 Vertical Type

+ B35 Horizontal-Vertical Type
* B14 C-Face Type

+ B34 Horizontal C-Face Type

1985 1990

- 1EETAm - TISHEERSER
SEXER (FRER) ™)

03 HBFEEEN (2R 15
s AT USEER £ -3 T i) &SB!
Type : B3/ B5/ B35/ B14/ B34

04 SHIERFEEENKE 22
- SHTLSTLFEEHR
- BIAFEEE

1998 2018 2020

- BREERATA - JRRIAL FrameREH - BRECESREE
(90) B THEREE B AVESIN(Ix)E:E

05 F>7FIVREETEH 28
- B E T (PR
R TH
- BRI
< ZEER. T 7 > SRR
- EEEWA
- NEMATZ#E

2008 2019 2022

- TIGHERRBER - (DI ERIAZERTERAL - HEZEE
(REsEZES) - ISOZB:E (A¥E—4 —=bIK ELECTRIC)
- BT - ULEZ:E *
(Inno-Biz) 06 ngﬁ 31

SEOEBEREAE
SEOB R —RERE

07 #HEIEE/E= 33
F R EEEAE



s &5 (€

RELGHAH Y=
- PILEEACHR ST L—LERATHARD - ERFIDKS C 4202 ST L I 7L &
AV LTNE - BEMNZER EERH
- TL—LABHT 1 Y OERL S A - KS C 4204 B84 FE BB EEHERTE
Flow Technology’ ER L THhfRE =& R
ML AEHREBAL | EETJLCERE
- ULEBEE

CRERY 7 Uz 7 ER LIRBIER
ST CRmERMEZ S

- RO BEEMEERIE > X T L(Dynamo
sys.) & B Lo RE S &L OTIAESEBR

- ERER DTN TR UFAHER L 7o#E 1 TEER
g« EiR#EIR

e [t .
63M 0.2KW(0.25HP) ~ 160L 18.5KW(25HP)

2 E

- JL—LY1X163~160

- H77:0.2~18.5kW

- BB LU HFEEIN (IRE, HE. 1)
- BU$#Z30 © B3, B5. B35. B14. B34



IE3| =7 L S 7L EEEEhE

B3 Horizontal types

Dimensional drawings

|
.

02

=7 LI7LFESHE A BT )

—{ O O =
o) [ 2|
- B3 Horizontal Type ’ i K Tz
. I
- B5 Vertical Type BA
- B35 Horizontal-Vertical Type
- B14 C-Face Type Dimensions
- B34 Horizontal C-Face Type
Output Dimension(mm)
Bearings
Fgge (kw) Overall DE Shaft extension Base
2P | 4P | 6P | 8P H C L HA X D E B FA G A B AB | BA | K1 K2 | DE | ODE
63M | 0.2 | 0.2 63 40 | 206 | 145 | 124 | 11 23 4 20 | 25 | 100 | 80 | 118 | 100 7 10 | 6202 | 6202
04 | 04
71IM G 71 45 | 237 | 169 | 142 | 14 30 5 25 3 112 | 90 | 130 | 105 T 10 | 6203 | 6202
*0.55| 04 | 0.2
0.75 | 0.75
80M 09 80 50 | 266 | 189 | 159 | 19 40 6 30 | 35 | 125 | 100 | 149 | 130 | 10 15 | 6204 | 6203
*1.1
15 | *1.1]075| 04
90L AR 90 56 | 324 | 212 | 180 | 24 50 8 45 4 140 | 125 | 169 | 145 | 10 15 | 6205 | 6204
22 | 15 |0.75
100L - 100 | 63 | 360 | 228 | 196 | 28 60 8 45 4 160 | 140 | 190 | 165 | 12 15 | 6206 | 6205
*22 |22 | 15
112M| 3.7 | 3.7 112 | 70 | 378 | 259 | 222 | 28 60 8 45 4 190 | 140 | 225 | 165 | 12 15 | 6206 | 6205
*4
55 | 55| 37 | 22
132S 140
75 132 | 89 | 473 | 294 | 263 | 38 80 10 65 5 216 248 | 215 | 13 15 | 6308 | 6307
132M 75| 55 | 37 178
11
160M 210
15 | 11 | 75 | 55 | 160 | 108 |622.5| 394 |3124| 42 | 110 | 12 90 5 254 286 | 290 | 15 18 | 6309 | 6309
160L | 185 | 15 11 | 75 254
Note ‘ L EROMHIR, RECHEER LS CREDICTFERCEBINBIELBY ET.
2. *FNIZIEC/KSHIERTIEH Y £8 A,
9



IE3 | =FL 7L FEEHE

IE3| =7 L S 7L EEEEhE

B35 Horizontal Vertical (7
types

B5 Vertical types

Dimensional drawings Dimensional drawings
T L
T
Q 7 4-@S(Hole)
4 2 S
= o ] o FA L [e) ! . o - E FA G
-—-/ - — '8 <
< Pt g = = —r —— gl J:'ﬁ 5
S = ST =, — Sl AN
- - i
= o] o = O O = E
as] fas] | m [
1\ [ i 1 [T i I E N
K1 K1 K2
‘ £ ‘ B 1T c ‘ E —H A
L BA AB
Dimensions Dimensions
Dimension(mm) Dimension(mm)
Frame O&W;jt Bearings Frame O(w\?;]t Bearings
Size Overall DE Shaft extension Sie Overall DE Shaft extension Base
2P 4P 6P 8P |S(Hole)| PCD M N HA L X T D E F FA G DE ODE 2P | 4P | 6P | 8P |SHole)| PCD | M N H C |HA| LA L X T D E F FA | G A B | AB | BA | KI | K2 | DE | ODE
63M 0.2 0.2 10 115 95 140 145 206 124 3 11 23 4 20 25 6202 | 6202 63M| 0.2 | 0.2 10 | 115 95 [ 140 | 63 | 40 | 145 | 152 | 206 | 124 | 3 1|23 4 20 | 25 | 100 | 80 | 118 | 100 | 7 10 | 6202 | 6202
04 0.4 04 | 04
1M o 10 130 110 160 178 237 142 3 14 30 5 25 3 6203 | 6202 TIM e 10 [ 130 [ 110 | 160 | 71 | 45 | 169 (178 237 | 142 | 3 | 14 | 30 | 5 | 25 | 3 |112| 90 | 130 |105| 7 | 10 |6203|6202
*0.55| 04 0.2 *0.55| 04 | 0.2
0.75 | 0.75 0.75(0.75
80M 09 12 165 130 200 212 266 160 35 19 40 6 30 35 6204 | 6203 80M o 12 | 165|130 | 200 | 80 | 50 | 189 (209 | 266 | 160 | 3.5 | 19 | 40 | 6 | 30 | 3.5 | 125| 100 | 149 | 130 | 10 | 15 |6204|6203
*1.1 *1.1
15 *1.1 | 0.75 0.4 15 [*11]0.75| 04
90L ) G 12 165 130 200 222 324 180 4 24 50 8 45 4 6205 | 6204 90L s 12 [ 165|130 | 200 | 90 | 56 | 212 ({222 (324 | 180 | 4 | 24 | 50 | 8 | 45 | 4 | 140 | 125|169 | 145 | 10 | 15 |6205]|6204
2.2 15 0.75 22 | 15 |0.75
100L - 15 215 180 250 253 360 196 4 28 60 8 45 4 6206 | 6205 100L 3 15 [ 215|180 | 250 | 100 | 63 | 228 {253 (360 | 196 | 4 | 28 | 60 | 8 | 45 | 4 | 160 | 140 | 190 | 165 | 12 | 15 |6206| 6205
*2.2 2.2 1.5 202215
112M | 3.7 3.7 15 215 180 250 272 378 232 4 28 60 8 45 4 6206 | 6205 112M| 3.7 | 37 15 (215|180 | 250 | 112 | 70 | 259 (272 (378 | 222 | 4 | 28 | 60 | 8 | 45 | 4 | 190 | 140 | 225 | 165 | 12 | 15 |6206 6205
*4 *
5.5 5.5 3.7 2.2 5555|3722
132S 1328 140
7.5 15 265 230 300 312 473 263 4 38 80 10 65 5 6308 | 6307 15 15 (265 (230 {300 | 132 | 89 | 294 [ 312 | 473|263 | 4 | 38 | 80 | 10 | 65 | 5 | 216 248 | 215 | 13 | 15 |6308 6307
7.5 5.5 3.7 7555|371 178
132M 132M
*11 19 300 250 350 350 507 263 5 42 110 12 90 5 6309 | 6308 11 19 (300 | 250 | 350 | 132 | 89 | 294 [ 350 503 | 263 | 5 | 42 |110| 12 | 90 | 5 |216| 178 | 248 | 215 | 13 | 15 |6309|6308
11 11
160M 160M 210
15 11 7.5 5.5 19 300 250 350 409 | 6225 | 3124 5 42 110 12 90 5 6309 | 6309 15 (11 |75 |55| 19 | 300 | 250 | 350 | 160 | 108 | 394 | 409 |6225(3124| 5 | 42 |110| 12 | 90 | 5 | 254 286|290 | 15 | 18 |6309 | 6309
160L | 18.5 15 11 7.5 160L|185| 15 | 11 | 7.5 254
Note 1. EREofsRlE, REEMEZALIE27-OICFERLLKEBIND ZLAHY £, Note 1. ERRoRRIE, RELHEZALIE27-OICFELRLKERBIND ZLAHY £,
2. *FRIZIEC/KSIERTIEH Y FH A, 2. *FRNIKIEC/KSHEIERTIEH Y £H A,
10 11



IE3 | =FL 7L FEEHE

B14 C-Face types

IE3| =7 L S 7L EEEEhE

B34 Horizontal C-Face
types

Dimensional drawings Dimensional drawings

-

T T
’ = ©O =
Z Z -
o } o) :M
1 I FA ) I FA G
S 0 e g 3 E /::: = £ gl L:H\
Y ——F Y
el O O frtet
Ll O O et o o
T Tl sl Bl |
1\ E i ] K1 ‘ ‘ K1
L . B 1T c E
BA
Dimensions Dimensions
. Output Dimension(mm) N - Output Dimension(mm) —
Saizee (kw) Overall DE Shaft extension S?zee (lw) Overall DE Shaft extension Base
2P 4P 6P 8P | S(Tap) | PCD M HA L X T D E F FA G DE ODE 2P | 4P | 6P | 8P |S(Tap)| PCD | M H C L HA | X T D E F FA G A B | AB | BA | KI | K2 | DE | ODE
63M 0.2 0.2 M5 75 60 145 206 124 3 11 23 4 20 25 6202 | 6202 63M M5 | 75 | 60 | 63 | 40 | 206 | 145 | 124 | 3 11 | 23 4 20 | 25 100 | 80 | 118 | 100 | 7 10 |6202 | 6202
04 | 04 04 | 04
7IM 055 M6 85 70 169 237 142 25 14 30 5 25 3 6203 | 6202 7IM s M6 | 85 | 70 | 71 | 45 | 237 | 169 | 142 | 25 | 14 | 30 5 25 3 [ 112 90 | 130|105 | 7 10 | 6203 | 6202
*0.55 | 04 0.2 *0.55| 0.4 | 0.2
0.75 | 0.75 0.75 1 0.75
80M 09 M6 100 80 189 266 160 3 19 40 6 30 35 6204 | 6203 80M 09 M6 | 100 | 80 | 80 | 50 | 266 | 189 | 160 | 3 19 | 40 6 30 | 35 | 125|100 | 149 | 130 | 10 | 15 |6204|6203
*1.1 *1.1
1.5 *1.1 | 0.75 0.4 15 |*1.1/075| 04
90L - e M8 115 95 212 324 180 35 24 50 8 45 4 6205 | 6204 90L | i M8 [ 115 | 95 | 90 | 56 | 324 | 212 | 180 | 35 | 24 | 50 8 45 4 1140 | 125 | 169 | 145 | 10 | 15 | 6205|6204
2.2 15 0.75 22 | 151075
100L - M8 130 110 226 360 196 35 28 60 8 45 4 6206 | 6205 100L = M8 | 130 | 110 | 100 | 63 | 360 | 228 | 196 | 3.5 | 28 | 60 8 45 4 1160 | 140 | 190 | 165 | 12 | 15 | 6206|6205
*2.2 2.2 1.5 22122 | 15
112M | 3.7 3.7 M8 130 110 263 378 232 3.5 28 60 8 45 4 6206 | 6205 112M| 3.7 | 3.7 M8 | 130 | 110 | 112 | 70 | 378 | 259 | 222 | 35 | 28 | 60 8 45 4 1190 | 140 | 225 | 165 | 12 | 15 | 6206|6205
*4 *4
55 55 3.7 22 55| 55|37 |22
132S 132S 140
7.5 M10 165 130 294 473 263 3.5 38 80 10 65 5 6308 | 6307 15 M10 | 165 | 130 | 132 | 89 | 473 | 294 | 263 | 35 | 38 | 80 | 10 | 65 5 |216 248 | 215 | 13 | 15 | 6308|6307
132M 7.5 5.5 3.7 132M 75 1551 37 178
11 11
160M 160M 210
15 11 75 55 12 215 180 393 | 6225 | 3124 5 42 110 12 90 5 6309 | 6309 15 | 11 | 75| 55| 12 | 215 | 180 | 160 | 108 |622.5| 394 (3124 5 42 [ 110 | 12 | 90 5 | 254 286 | 290 | 15 | 18 | 6309|6309
160L | 185 15 11 7.5 160L| 185| 15 | 11 | 7.5 254
Note 1. FEROMERIZ, REEEREAREIEIT-DICFERCEBINDIZELHY £F, Note 1. LRRoRRIE, RELHEEZALIEI7-ODICFELRLKERBIND Z LMD £,
2. *FRIZIEC/KSHERTIEH Y € AL 2. *FRNIKIEC/KSHEIERTIEH Y £H A,
12 13



HIgEE TS (2ME)
AT UHBER 0T VY & B

B3 Horizontal types

03

Dimensional drawings

HigsFEEHiE (2R
-
. — N [ o === o 1]
- Condenser Running (3> 5 > #5845 H) Si= =
— 2| |
Type : B3/ B5/ B35/ B14/ B34 < T TEEEE se=—"¢l
— =
- Condenser Starting & Running (3J>F > #2&) & EsnR) O e
Type : B3/ B5/ B35/ B14/ B34 ) e e |
BA
Dimensions
Dimension(mm)
Frame O(L:(t\/'\)I;Jt : Bearings
Size Overall DE Shaft extension Base
2P 4P 6P H C L HA X D E F FA G A B AB BA K1 K2 DE ODE
04 | *0.2
1M 0 0 71 45 | 237 | 171 | 142 | 14 30 5 25 3 112 | 90 | 130 | 105 7 10 | 6203ZZ | 620277
*0.55 4
0.4
0.75 | *0.55
80M — 80 50 | 266 | 192 | 159 | 19 40 6 30 | 35 | 125 | 100 | 149 | 130 | 10 15 | 6204ZZ | 6203ZZ
*1.1
1.5 | *0.75] 0.75
9L | 2.2 | *11 90 56 | 324 | 218 | 180 | 24 50 8 45 4 140 | 125 | 169 | 145 | 10 15 | 6205ZZ | 62047Z
1.5
22 | 15
100L - 100 | 63 | 360 | 231 | 196 | 28 60 8 45 4 160 | 140 | 190 | 165 | 12 15 | 6206ZZ | 6205ZZ

Note 1. Lok, RELHREZALIEZT-OICTFERCEEINDI ZENHY £,
2. *RRIFIEC/KSHRIEMTIEH Y £ A,

15




BHiRs S S5 (AR

A>T UEER VT U HicE) &EERE

B5 Vertical types

Dimensional drawings

T
T= o [¢)
. i;LJ:‘ FA .G
E¥ - u_L
3 o] = 8
=
== 6 6 EFE
[imi] [imi | ’
1
E
L
Dimensions
Dimension(mm)
e O(T(%Jt Bearings
S Overall DE Shaft extension
2P 4p 6P [S(Hole)| PCD M N HA L X T D E F FA G DE ODE
04 | *0.2
1M 10 130 110 160 180 237 142 3 14 30 5 25 3 6203ZZ | 6202772
*0.55| 0.4
0.4
0.75 | *0.55
80M 12 165 130 200 212 266 160 35 19 40 6 30 35 620477 | 62037Z
*0.9 | 0.75
*1.1
1.5 [*0.75] 0.75
90L | 2.2 | *1.1 12 165 130 200 228 324 180 4 24 50 8 45 4 620577 | 6204ZZ
1.5
22 1.5
100L 12 215 180 250 256 360 196 4 28 60 8 45 4 6206ZZ | 6205ZZ
*3
Note 1. ERotikld, RBEHEEABMLIE27-ODICFERCEREINDIZELAHY £,
2. *FRIRILIEC/KSIEERTIEH Y FH A,
16

Higg S S (AR

A>T UEER Q2T s &FEERi

B35 Horizontal Vertical

types

Dimensional drawings

L
T
[¢) [¢)
= =+ FA
L~ I <
x = Dl I3
S = — S
=~
— == T
B=0i(H
K00 0T 2 |
k1 LK1
B C E
BA
Dimensions
Dimension(mm)
e O(lil('ilﬁ)l;lt Bearings
S Overall DE Shaft extension Base
2P | 4P | 6P [S(Hole) PCD| M N H C |HA|LA| L X T D E F|FA| G A B | AB | BA| K1 | K2 DE ODE
04 |*0.2
71IM 10 (130|110 160 | 71 | 45 [ 171|180 |237|142| 3 |14 |30 | 5 | 25| 3 |112| 90 |130|105| 7 | 10 |6203ZZ|62022Z
*0.55| 0.4
0.4
0.75 {*0.55
80M 12 (165|130 /200 | 80 | 50 {192 {212 266|160 | 35| 19 | 40 | 6 | 30 | 3.5 |125|100 | 149|130 | 10 | 15 |6204ZZ | 6203ZZ
*0.9 | 0.75
*1.1
1.5 {*0.75/0.75
90L| 22 |11 12 [ 165|130 200 | 90 | 56 {218 {228 1324|180 | 4 |24 | 50 | 8 | 45| 4 |140|125|169|145| 10 | 15 |6205ZZ | 6204ZZ
15
22| 15
100L . 12 (215|180 (250 | 100 | 63 | 231 (256|360 | 196| 4 | 28 | 60 | 8 | 45 | 4 | 160|140 | 190|165 | 12 | 15 | 6206ZZ | 62052Z
Note 1. FEROMEERIZ, REBEEUREEZ A LEIEIT-DICFELRCEREINDZENAHY £T,

2. *FRRIFIEC/KSHBMTIEH Y £ A,

17




HIEES T (2R HIREE T (2ER)

AT EER O 7 Y iies) & EEL R A>T Y8R O 7 s & EER R
B14 C-Face types B34 Horizontal C-Face
types

Dimensional drawings Dimensional drawings
4 N

< <
= =
NG J
Dimensions Dimensions
Output Dimension(mm) — : Output Dimension(mm) —
F;;;e (lw) Overall DE Shaft extension :;;e (kw) Overall DE Shaft extension Base
2P 4P 6P S(Tap) PCD M HA L X T D E F FA G DE ODE 2P | 4P | 6P S(Tap) PCD| M H C L HA | X T D E F FA G A B | AB | BA | K1 | K2 DE ODE
0.4 *0.2 04 | *0.2
1M M6 85 70 171 237 142 2.5 14 30 5 25 3 6203272 6202772 1M M6 | 8 | 70 | 71 | 45 | 237|237 | 142 | 25| 14 | 30 5 25 3 | 11290 |130|105| 7 10 | 6203ZZ | 620277
*0.55 0.4 *0.55| 0.4
0.4 04
0.75 | *0.55 0.75 [*0.55
80M 09 M6 100 80 192 266 160 3 19 40 6 30 3.5 6204772 620377 80M wlos M6 | 100 | 80 | 80 | 50 | 266 | 266 | 160 | 3 19 | 40 6 | 30 [ 35| 125|100 | 149 | 130 | 10 | 15 | 6204ZZ | 6203ZZ
09 | 0.5 e
*1.1 *1.1
15 *0.75 | 0.75 1.5 |*0.75| 0.75
90L 22 *1.1 M8 115 95 218 324 180 35 24 50 8 45 4 6205727 620477 0L | 22 | "1l M8 | 115 | 95 | 90 | 56 | 324|324 | 180 | 35 | 24 | 50 8 45 4 1140 | 125 | 169 | 145 | 10 | 15 | 6205ZZ | 6204ZZ
1.5 15
2.2 1.5 22 | 15
100L = M8 130 110 231 360 196 35 28 60 8 45 4 6206ZZ 6205772 100L = M8 | 130 | 110 | 100 | 63 | 360 | 360 | 196 | 3.5 | 28 | 60 | 8 | 45 | 4 | 160 | 140 | 190 | 165 | 12 | 15 | 6206ZZ | 6205ZZ
Note 1. ERROMEKIE. RBEHEEZALIETR-DICFERCEREINDIZELHY T, Note 1. FSROMEERIZ, REBEEUREEZ A LEIEIT-DICTFELRCEREINLIZENAHY £T,
2. *F"IRIFIEC/KSIEEMTIEH V) £ Ao 2. *FRIZIEC/KSEBIERTIEH Y £ AL

18 19




www.ikelectric.co.kr

LIV LFEE

v

Type:A/C/D

. BARAEEE

Type:A/C/D



IE3 | JHER. =87 L = 7 LFETENIE Dimensions

Output Dimensions (mm) Bearings(ZZ)
[} Frame | Model Flan
- ge TAP ShaftT
- t eS Size | NO. HP‘(";W) Type A|a| B |oklem| H|HA|ox| c| L | pE | opE
ON NA | Y PCD E @DA | GE F @DP
IK307G1A0 50.8 7.5 2 | 8255 55 232
10.75) | A 4-M8
1K307G1A1 508 | 85 | 25| 82.55 127 | 143 | 32
1K307G1D0| 1(0.75) D 508 | 85 | 25| 8255 | 2-M8 56.5| 233.5

IK307G2A0| 1(0.75) A 70 7 4 98 4-M8 | 15.88 | 18.7 5

IK307G3A0| 1(0.75) A | 8255| 85 | 1 | 106.4| 4-M10 | 15.88| 17.7 4 55 232
o . N 80M |[Ik307G3AL 127 | 143 | 32 | 29.7 | 125| 149 | 100 | 10| 15| 80 | 189 | 160 6206 | 6203
Dimensional drawings el 1009 | PV e s s
IK307G3A3 19.05 | 214 | 4.76
8255 | 7.5 | 35| 106.4 56.5| 2335
IK307G3D0 127 | 143 | 32
, — Ik307G3p1| 1(0.75) | D 2-M10 | 1588 | 177 | 4
R
4(2)-"E"TAP a \ IK307G3D2 19.05| 214 | 4.76
\
. 1K31561A0| 2(1.5) | A 4-M8
] / 508 | 85 | 3 | 8255 127 | 143 | 32
=K Ik3156100| 2(1.5) | D 2-M8
. Y ///
— “K"\\ NA IK315G3A0 127 | 143 | 32
\ <
b a o B L T SHAFT PIEREFHET % "K" IK315G3A1| 2(1.5) | A 4-M10 | 1588 | 17.7 | 4
’ 90L |iK315G3A2 19.05 | 21.4 | 476 | 29.7 | 140 | 169 | 125 | 10| 15| 90 | 212 | 180 | 55 | 2725 | 6206 | 6204
= 8255 | 7.5 | 4 | 106.4
IK315G3D0 127 | 143 | 32
T
o o
Fas) 1k31563p1| 2(1.5) | D 2-M10 | 1588| 17.7 | 4
IK315G3D2 19.05| 214 | 476
B c Ik31564c0| 2.5 | ¢ [9505| 7 | 45| 127 | 4-M10 | 19.05| 214 | 476
4-2K 4-oM ‘ ‘ DETAIL OF SHAFT END DRIVE
L | AB | 1K322G1A0| 3(2.2) A 4-M8
508 | 85 | 45| 8255 127 | 143 | 32
1K3226100[ 3(22) | D 2-M8
1K322G3A0 127 | 143 | 32
K32263A1| 3(22) | A 4-M10 |1588| 177 | 4
IK322G3A2 19.05 | 214 | 4.76
82.55 12 1 106.4
1K322G3D0 127 | 143 | 32 63 | 303
E/B |YPE(FRONT) 100L |ik32263p1| 3(22) | D 2-M10 | 1588 | 17.7 | 4 | 297 | 160 | 190 | 140 | 12 | 15 | 100 235 | 199 6206 | 6205
1K322G3D2 19.05 | 214 | 4.76
1K322G4C0 127 | 143 | 32
Type A Type C
K32264c1| 3(22) | ¢ |9s05| 12 | 1| 127 | 4-M10 | 1588 177 | 4
1K322G4C2 19.05 | 214 | 4.76
1K322G4C3 19.05 | 207 | 32
322) | ¢ |o9s25| 12 | 1| 127 | am10 615| 3015
1K322G4C4 19.05 | 214 | 4.76
IK337G3D0 127 | 143 | 32
1k337G63p1| 5(3.7) | D | 8255| 75 | 3 | 1064 | 2-M10 | 16 | 178 | 4 62 | 310
IK337G3D2 19.05 | 214 | 4.76
IK337G3A0 1588 | 177 | 4
537) | A |8255| 7.5 | 1 | 1064 | 4-M10 60 | 308
IK337G3AL 19.05 | 214 | 48
IK337G4CO 19.05 | 207 | 32
112M 537) | ¢ |9525| 7.5 | 35| 127 | 4-M10 345 | 190 | 225 | 140 | 12 | 15 | 112 259 | 222 | 62.5| 310.5 | 6207 | 6205
IK337G4C1 19.05 | 21.4 | 4.76
Type D
IK337G3D3 1588 | 177 | 4 705 3185
IK337G3D4, 127 | 143 | 32
537) | D |8255| 8 | 4 | 1064 2-M10
IK337G3D5 1588 | 177 | 4 73| 321
IK337G3D6 19.05 | 214 | 4.76
k3376500 5@3.7) | D | 101.6| 105 | 1.5| 146 | 2-M12 | 2222 254 | 6.35 72 | 320
IK355G5A0 A | 1016 105 35| 146 | 4-M12 | 22.23| 254 | 635 | 395 6308
132S 7.5(5.5) 855 389
IK355G5D0 D | 127 | 10 | 4| 181 | 2-M16 | 3177 354 | 7.98 | 445 14071 6309
216 | 248 |77 13 | 15| 132| 294 | 263 6307
IK375G3A0 A | 8255] 105| 1 | 1064 | 4-m10 | 1588 | 17.7 | 4
132M 10(7.5) 395 83 | 3865 | 6308
IK375G5A0 A | 1016 105| 1| 146 | 4-m12 | 2222 251 | 635

Note | LEcoftirid, REBELMARREM LI EZHICTFELRCEEINLG LV HY £,
22 23




HEF. BAESEHE (2EE)

®
- . . .
B34 Horizontal C-Face types
F“?"“e Model NO. Flange Tap Shaft
Sz HP(KW)
ap | TYPE A |AB | B |BK|OM| H|HA |@X| C L DE | ODE
@N | NA | Y | PCD E @DA | GE F | @bP
IK107G1A0 A 4-M8
. . . 1(0.75) 50.8 | 85 | 25| 8255 127 | 143 | 32
Dimensional drawings K1076100 b 2 g
1K107G2A0 127 | 143 | 32
r I . IK107G2A1 | 1(0.75) A 4-M10 | 15.88 | 17.7 4
=
4(2)-"E'"TAP j s} \ 80M 29.7 | 125 | 149 | 100 | 10 | 15| 80 | 192 | 160 | 60 | 237 | 6206 | 6203
f /! 1K107G2A2 19.05 | 214 | 476
\
Y S 8255 | 7.5 | 3.5 106.4
NA IK107G2D0 127 | 143 | 3.2
<
= T sHAFT pEsErHEE K
s IK107G2D1 | 1(0.75) | D 4-M10 | 1588 | 177 | 4
T 1K107G2D2 19.05 | 214 | 476
L IK115G1A0 A 4-M8
2(1.5) 50.8 | 85 | 25| 8255 127 | 143 | 32
DETAIL OF SHAFT END DRIVE 1K115G1D0 D 2-M8
IK115G2A0 127 | 143 | 32
IK115G2A1 | 2(1.5) A 4-M10 | 1588 | 17.7 | 4
90L 29.7 | 140 | 169 | 125 | 10 | 15 | 90 | 218 | 180 | 60 | 277.5 | 6206 | 6204
IK115G2A2 19.05 | 21.4 | 4.76
E/B TYPE(FRONT) 82.55 | 7.5 | 3.5 | 106.4
1K115G2D0 127 | 143 | 32
Type A 1K115G2D1 | 2(1.5) D 2-M10 | 1588 | 17.7 | 4
1K115G2D2 19.05 | 21.4 | 4.76
1K122G1A0 | 3(2.2) A 4-M8
50.8 | 85 | 25| 8255 127 | 143 | 32
1K122G1D0 | 3(2.2) D 2-M8
1K122G2A0 127 | 143 | 32
IK122G2A1 | 3(2.2) A 4-M10 | 15.88 | 17.7 4
100L 29.7 | 160 | 190 | 140 | 12 | 15 [ 100| 238 | 199 | 63 | 303 | 6206 | 6205
1K122G2A2 19.05 | 21.4 | 4.76
Type D 8255 | 12 | 1 | 106.4
1K122G2D0 127 | 143 | 32
1K122G2D1 | 3(2.2) D 2-M10 | 15.88 | 17.7 4
1K122G2D2 19.05 | 21.4 | 4.76

Note | LEcoftirid, REBELMRREM LI E2HICTFELRCEEINL LV HY £,

24 25




WWW.i
.ikelectric.co.kr

- 05

7r :/5“-‘7*/ K
Eﬁ%ﬁ@]*ﬁ

- HAEEEE
o Bk ($RFEY)
- TR A
. JC=
IEJEI\ T7>
. ) /\ 3
EEEMEW A S
- NEMAZE#E

&) '




FoT72 FERZEEE (FHAE)

B3 Horizontal types

T 30

& 2,4

H47:0.2 ~18.5kW

ZEE 1 220/380V AC, 380V AC

. . . JEIEEL - 60 Hz, 50 Hz
Dimensional drawings

~
L
7 f %‘3 T 30
' IS . WE 4
‘G 3 1 H77:0.2 ~ 7.5kW
N EJE © 220/380V AC
o%'jo - B3 % 60 Hz, 50 Hz
La k2 ‘
A 1
| AB
_ J
T .30, 10
Dimensions W02, 4,6
— H77:0.2 ~18.5kW
e | U pmensions ) S TIE © 220/380V AC, 220V AC
Size Overall DE Shaft extension Base B : 60 Hz, 50 Hz
2P | 4P | H ¢ L | HA | D E F FA | G A B | AB | BA | KI | K2 | DE | ODE
73 *02 | 73 | 52 | 233 | 139 | 14 | 30 5 20 3 | 112 | 9 | 150 | 110 | 7 18 | 6202 | 6202
79 | *04 79 | 47 | 266 | 162 | 19 | 40 5 30 3 | 125 | 100 | 165 | 130 | 10 | 30 | 6204 | 6203
o0l *04 | 90 | 60 | 269 | 173 | 19 | 40 5 33 3 | 136 | 100 | 178 | 134 | 10 | 34 | 6204 | 6203 FEESEE R
*075| 90 | 53 | 290 | 173 | 19 | 40 6 30 | 35 | 140 | 125 | 190 | 155 | 10 | 30 | 6204 | 6203
*0.75| 106 | 71 | 336 | 212 | 22 | 50 7 40 4 | 169 | 114 | 228 | 150 | 11 | 35 | 6205 | 6203 T 30
106 *15 106 | 725 | 355 | 212 | 28 | 60 | 7 | 50 | 4 | 169 | 114 | 228 | 150 | 11 | 35 | 6206 | 6203 W 2,4,6
*2.2 106 | 70 | 370 | 212 | 28 | 60 7 50 4 | 169 | 114 | 228 | 150 | 11 | 35 | 6206 | 6203 H747:0.2 ~15kW
*11 | 106 | 70 | 335 | 212 | 22 | 50 7 40 4 | 167 | 114 | 228 | 150 | 11 | 35 | 6205 | 6203 &£ - 220/380V AC
*15 | 116 | 61 | 360 | 229 | 28 | 60 7 50 4 | 167 | 142 | 234 | 180 | 11 | 34 | 6206 | 6204 K% - 60 Hz, 50 Hz
116 *22 | 116 | 65 | 376 | 229 | 28 | 60 7 50 4 | 167 | 142 | 234 | 180 | 11 | 34 | 6206 | 6204
*37 | 116 | 67 | 406 | 229 | 28 | 60 7 50 4 | 167 | 142 | 234 | 180 | 11 | 34 | 6206 | 6204
Note | 1. EEoftifilt, RELHELEALSEE1EDICFEACEBINDIENHY £, NEMAIZHE
2. *FRIFIEC/KSHIERTIRH Y £ A, ARIFXEELET
Note | #>7 <> F/IERERICOVWTIE, SHBERICEMLEHE LS,
28 29



l’\iﬁiéhiiﬁéﬁﬁdﬁé

- TIWEr—2 2% (Casing)
FRE - AREBRLIES
REE - aE

-BEE. KRET 7>

Fai

Dimensional drawings

3% A%

DR R A P
BB —ASRER

@D1

a
IS
el el
.8 |.C | E
Technical Specification
Power Voltage Current Frequency | Static Pressure | Wind Capacity Speed .
Phase (kW) Pole V) ) (Hz) (mimag) (m3/min) (RPM) Duty Protection
10 0.75 2 220 4.5 60 314 8 3,450 S1 ODP
30 0.75 2 380/220 3.5/2.0 60 314 8 3,450 S1 ODP, TEFC
Dimensions
Dimension(mm)
Model NO
A B C E K1 K2 D1 D2 M G L H HA
IKM-HF-0.75S
223 125 46 66 30 8 124 75 66 33 282 472 260 474
IKM-HF-0.75T

Note | LEEOfHkld, RELUEEZMEIELDICTFELLEEINDZLAHY ET,

31




4

==

RO A —RiR A

X4

A O}%ﬁﬁlii

- RBEHAERLES
EREE - amE '
== = ~ =k 3 3
EEE. KRET 7>~ SR EBMERE
3Z RSV RBISHL 6 AL RIFHL
\ IE%R 1 CW
sl If BEA#EE) (D.O.L.starting) YitZEf (Y - Starting) Af2E) (/- Starting)
e v BEE

Dimensional drawings (el W) T T T ? % % T
i . 7?9 l l

. L1 L2 L3 L1 L2 L3 L1 L2 L3 L1 L2 L3

RERE 220V (A-5HR) = EE 380V (Y-1E4R) H[EER © CCW

G
‘ ) oo o
é > IEEE Y-/ ¥CEATRE
. N (Dual Voltage) e 3 B AR ? ? ? Y- EBRE

FlEHLECREC
L2 L3 L L2 13 L2 13

D1

9ZX+TVREIFHL
EEBE 220V SEE 440V {EEE 220V SEE 440V

m ° 6 o

HA

BCEE Z g g
(Double Voltage) ? ? ? ? ? ?
. 9% L L2 13 L 13 I L 13 L 13
. o . T—2 —RNERHERR (ViR E— 2 —NEREAR (A #E54R)
Technical Specification
Power Voltage Current Frequency | Static Pressure | Wind Capacity Speed . SR3E T + v
Phase (kW) Pole v) () (H2) el (m3/min) (RPM) Duty Protection ﬁ*ﬁ p;%?;f @,@]%ﬁknﬁ
10 0.75 2 220 3.9 60 265 26 3,450 S1 IP55 HEE FTEFE
10 15 2 220 4.5 60 285 40 3,450 S1 IP55 3XR~FVRE|IEHL 42 ~ZVRE|IEHL 110V 220V
19 2.2 2 220 8.2 60 320 52 3,450 S1 IP55
30 0.75 2 380/220 3.92.4 60 265 26 3,450 S1 IP55 1E#R ? ? §
(cw)
30 15 2 380/220 7.5/4.5 60 285 40 3,450 S1 IP55 o
30 2.2 2 380/220 8.2/4.8 60 320 52 3,450 S1 IP55
30 3.7 2 380/220 13/7.6 60 380 63 3,450 S1 IP55 HEEE §
(ccw) o 4
. . COM
Dimensions
Dimension(mm) FF'@J#EE —_
Model NO == =
A B C D1 D2 | M G L H HA = = [l
IKM-TF-0.75S 315 165 55 143 123 90 70 390 530 345 616 T HBREL 0.2kw 0.4kw 0.75kW 1.5kw 2.2kw 3.7kwW 5.5kW 7.5kW 11kw = 15kW * | 18.5kW *
IKM-TF-0.75T 315 165 55 143 123 90 70 390 530 345 616 4 2 4.4 6.8 10.2 15.4 17.6 30.4 46 53 83 89 105
=#
IKM-TF-1.5S 323 165 55 148 122 90 80 423 542 355 637 4 7 7 14 16.5 25.8 30.4 50 56 95 99
IKMTF1.5T 323 165 > 148 122 90 80 423 42 355 637 Note | Ltid7—ZXIIB3EETH Y. B5RF11~18.5kWILB3L W kg
IKM-TF-2.2S 323 165 55 195 150 110 56 420 616 355 663
IKM-TF-2.2T 323 165 55 195 150 110 56 420 616 355 663 T BREL 0.2kwW 0.4kW 0.75kW 1.5kW 2.2kW
IKM-TF-3.7T 323 165 55 195 150 110 56 463 616 377 685 - 2 5.5 7.5 9.3 14 174
H
4 6.9 9.2 12.7 18.6 26.6
Note | LREEOMHHRIZ. RELMEZALIEIT-DICFERKEEINDIZENH Y ET,
32 33



7| &l

- nve Fomn donoaEs
- uwsnns 7e-s7-00m

<any |
e w15 e o aan 195

cwew e

ceann aomeonen - oy

711G WAITRA 30 a2,
| N25220 790 2 BAVIUR RRRLIT,

e ron ooy

« '!H7Iﬁ!t\’_|7.

190601 - on1s7 &

21484 3229 (Inno-Biz) ¥4

F0s okl 2y
s4sy

1 394 2 B0 198

A

20101217 ~ 2022.22.26

SN 14U 32019 R4AL 99
49 5148409 32219 (Inno-Biz) 9§ U
W

20224 99 199

ree——

Tx719 A4

WIS EANUA R, A2 ¢ BAAIUYE R

2022 080 229

2019112966 &

MALLARA AN

124708 LIPIEAUA B UE, A14E9
2419 X e ¥ A9Y A2EA1YA G2t st QoI
AgyeAL2 95U,

2z om v
@ LERAEE
=

FeflrEE/ b
(Inno Biz)

)
S

SEFSM2HASA

GobuBestRegisors

W Booouusy
4 2lEsaA B AR 105

2zuMacosae

21 2lAje] EEABAILHO]

ofefle] AL BTt eISHe
EEEEE

FUAMEE 150 9001:2015 /KS Q150 9001:2015
UEE Sis $80lo AT

HEOIEU 2019.12.10
SENEY 2022.12.09
uE 20211203

GobalBestRegstars

Q%‘%‘%AI* QASA

PEUe EMS-21-014
Sk (%) ofolAolgalsa
201 30 TR A2 195

L5

S AECIZS

F13IMe| 2HEZIAARO|

Oftio] ZHAI AL B QAISHSI0N
g sy,

FUAAMEE 15014001:2015KS 1150 14001:2015
B Delst $E7IeI AT

HEEWI 2019.12.10
0FUE 20221209
wawl 202112.03

ESY AMRASSEX ASM

CERTIFICATE OF PRODUCT-SPECIFIC APPROVED EXPORTER

st of Cortiies prosucts)

P

oosunn
a0 1)

oI BT @EMI!
Head of INCHEON Custons (0]

e

iy
e

CERTIFICATE OF COMPLIANCE

warzaoro
ez

Wi
s oo o e e Hewseor o Orioropid
Rapie ot Krvassn

PRGYS - okr for Aspance Aptestons Cad o
500 Adsandum Page o ProdctOnsnatonts)

Hav bon st b Ut nacorsane wn

oo et e S W.‘
oo s soomied o et o UL LG
(CSACZZN 100,70 o, lsue Dt 2014971,
Revion Dt 2017.0801

S h UL vl Cticatons Dieciry st
Mioslic doraeector com o el momston

T o o

e S S

Gy A o e e oo B
RESes i el et b

Lo et g Comperet i et

®

R RAZRR

I1SO 9001

I1SO 14001

B B R MR R HE
AEARE

CERTIFICATE OF COMPLIANCE
ot s LU 23160070

e e £500714 20250012
[

i KB CoLi

Tty PRGY2 - etrs o AopRane Aplcatons - Component
g}

ce Y | —

EU DECLARATION OF CONFORMITY

Rl e i ot o ot v o,
e ron
SOt WO o W s

ek BN

o i aer
vty UL 10041, 20 . Do 072,01, Ron
O AR [rp— PN —,
Attt et S th . vt s Descoy a1
Phceo e e
Dateot e o 520

L B . e G M o

At Sty

Gertisie

wa\%w”l‘m i O I

xx 1
AEAZA
wamvsn i
b
e vousea

8B 8 ns A as v
wRzus scan
a

CUYERES, AUE A1t 18 ASUAS LAY A3 o

ARIEEKSD UBUAYIZA SYFDE, BT, ALSE 2
22 ¥ NS A0 Hisol s it 2o] BRSSOl
HReg ASE,

MEEECE

TR @ A
AEA3A

1 xnzaNy s
2 anun wer
5 azann wiswnmenazs
uans
nE e W sy Rs e
omaua scann
a e 0y

CURIRESH, AT Hiol T2 USUNE WD U3t 87
QIR (K5I} QBUAIEN HGBIEE, elEEON, AISE %
28 ¥ BT AT AIEl 1 9o o] BRUARBKS)ON
HYRE A,

muwy2y

YREEUY

UL 585

]
aEx:
2|
FRI12 : =

AR

BN HABE FIIN

(CANADA)

g

49497 244

A AR A AR} FEL
A A 49499t A3 1%
ARtz A9} Ao

Fiel WS “Refuof we Kejvol SRS BYLC

s s 10 carty . accdarce wih th Puont Ack  puen o the imeron
opery e

R e et 5 K el

e oo
Q Pk
i weikcrns oy
=013 o 2 4 “‘%
}2

an 101097090 =
s A easasons 2
b oot osw 2
W mesomow
R
.-m-qu--«nm~—1

e TN Bos HAR 1 )

Fugans s
o g

el wae rEsidof wet Hojgiyol SRSAEE BYHCh
T s 10 curtty . i acondnce i the Pt At 3 ot for th imrion
R e gt o the Horn e Propy Ofce

5y 2

e o o ——
O Rk
222
) 4 ’%

UL EZEE (US)

34

CE

U 25 5

CEss
sl
ol | 301044573 &

s
s A wasosms

20194 098 208
W oy
W wass

20 avor ok 00 e
FrEen

@GRSy
s i v R 15 4R

e —

WIS 044 WA ORI 54 e

$i2l XS TCIRALEY,Of Het CIXISRUNOl BRSNS
s,

T i 0 corly st i scordrce it he D Protcin A, the ek b
o rogteed  th Koran ctl Propery Ofc.

oz om oou
O P REEA
kot

Kl 2] 9 4

g “TET

CIXASES

58 anosas
= e
e e
B aaa
B amrs
Mo

L

s v v e 10 (032

iz ey
e pp—

i

el xS TiILEY,0f Wt CitIE RN SRSEE
swd.

Dl oy it o e Dol ot i
"t Ko It Fropery

et oo ——

Q sauy

e .

sy PR %
(U

THA VBERE

THA VRS

IK ElectriclZ
HERDEFEDEEIC,
miEDOZICIH T
ATV AE Y R - B AN
HR—DEZECRETHIC
BEEDE N RLLET,

35




J {‘ l K ELECTRIC

www.ikelectric.co.kr

RESE EH REHE RAEK 195
Tel : +82-31-351-3750  Fax : +82-31-351-3753

Mus © (€ B o

COMPLIANT

CATALOG Copyright IK ELECTRIC / June 2023

BAEigT






